EXAM 2, M312, Section 30353, 11/08/13
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Show your work. Simplify answers when possible. No books, notes, calculators are allowed. Use back
sides as scratch paper (they will not be graded).
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1. (10 pts) Evaluate ffwyz dxdy, where D = {(z,y) e R® : 22 +4* < 1, y > 0},
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2. (10 pts) Evaluate f[f @ +Z iz2)3/2 where W = {(z,v,2) € R? {15 z2 :I-y2+ 2 < 4).
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3. (10 pts) Let S be a surface in R? given by the conditions > +3* + 22 = 2, 2 > 1. Find a
parametrization of it corresponding to the representation of this surface as a graph of a function of
z and y. Using it, find the area of this surface.
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4. (10 pts) Find f f
5
byz>0,y>0,2z20.
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zdS, where S is the part of the plane 4y + 2z = 1 in the positive octant defined
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5. (10 pts) Let F = (z,2%, yz) represent the velocity field of a fluid (velocity measured in meters per
second). Compute how many cubic meters of fluid per second are crossing the zy-plane through the
square 0 <z <1,0<y < 1. ) N
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